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Read the following instructions carefully before you answer the questions -

1. HFRYE Aradr g8er ugel 90 fA9e # 8| 1 Mental Ability Test shall be completed in first

Teqgara fére FraT gieror foram e | 90 minutes. Scholastic Aptitude Test will
RS Argar gdeor & g3l » owx foy  followit.
U IR IHF WA B Answers of the Mental Ability Test is to be
gorg 90 e 9 |ERT W IERIE aFaan ?srki(/il in gllveAn }?1MR s:eet : ”
ST e Menta ility Answer sheet wi
RIS BT SR A o forem I collected after first 90 Minutes. SECURITY
2 IUET A TR, o {6 amye waer 93 A 2 Please write your Roll No. as given on y SEAL

fear T 8, e fofae (Te dfet § daa
Uh 3icp) g LT XY o 13 dfa Raa 73

Admission Card, very clearly (only one dig_.
one box). Please see that no box is left unfilled.

STy |
FETERT : Example:
3|3|0|1|8]0(4(0(3]|2]|1]5 3|3|0|1|8|0|4([0(3|2]|1]5

T RIS & 9T H B | /T — W H 90 WEH
e | Id U3 U 3P BT & |

HER® Q1T — 45 U9 (1 9 45 O5)
f&=ft — 25 %= (46 @ 70 TD)

AT — 20 U (71 & 90 TH)

UH U3 P SR ITR—9TF H IHI gvT
& © 9 v U et § | |8
faey arell =T & aad ¥ vg € 9faa
" WERT BIAT HR ST | T BT 9 8
R R ERT 9 U O & oTery w@d
qEreff @1 erft | At SR Tad 89 W
geaqT =8, o 99 YaRX I fAerex aae #
HE B Gfel B TP B |

The test is in two parts, Part - I consists of 90
questions. Each question carry one mark.

Mental Ability -45 questions (1-45)
Hindi - 25 questions (46-70)
English - 20 questions (71-90)

One oval of correct Answer should be
darkened by the candidates with HB pencil of
corresponding question of the OMR sheet
If scanner is unable to read the darken oval
then all the responsibility lies on the
candidate. If oval is wrongly filled by the
candidate he is free to erase it & darken the
correctoval.

e : 39 gRAHT # U I TR T4 IP B & oY T Y WE W) $Haer W FR wRA
% fdRad wdl g 9 forfay |

Note - Do not write anything anywhere in the booklet except your Roll Number and Rough Work at
the place meant for it.



99 (1—3) / Question (1-3) Fr<er : Udies Ued # e ww o7 <1 78 @ R vab ug e
2, ﬁﬁmﬂwm@)ﬁwﬁmwélwwwwﬁﬁmwwﬁm
(=) ¥ Uh § | 98 AT © —
Directions : In each question there is a number series with one term missing shown by question
mark (?). This term is one of the alternatives among four numbers given under it. That number 1s -

(1) 10,100, 200, (?7), 430

(1)310 (2) 400

(3) 410 (4) 420
(2) 3,7,16,35,(D

(1)39 (2) 70

(3) 74 (4) 80
(3) 11,13,17,19,(?),29

(1) 21 (2) 23

(3) 25 (4) 27

e (4—6) / Question (4-6) T : 377 weei # U ¥ B WY TS Aol H H <1 71
R o e A1gE & | T IS A for AR fRidedi § 4 v | AYE US © -

Directions : These questions consist of a number series which contains a wrong term. This term is
given as one of the four alternatives among the four numbers given below. The wrong term s -

(4) 32,39,45,52,54

(1)39 (2)45
(3)52 (4)54

(5) 3,7,9,28,27,84,81,448
(1)7 (2)28
(3) 84 (4)81

(6) 10,15,26,35,48,63,82
(1)26 (2)48
(3)63 (4)82

Y% (7—10) / Question (7-10) FEer : Y% UeT H TR WHE € | T WE AT A WE |
faredt gfte & =1 & | 591 =1 g &1 §feT —

Directions : Each question consists of four groups. One group is different from the other three in
some way. Find out the different group -

(7)  (1)PSRQ (2) CGEF
(3) IMLK () VYXW
I% B
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(8) (1)81 (2)100
(3)125 (4) 144

9) (1)AZBY (2) CXDW
(3)EVFU (4)HSGT

(10) (1)l / Chair (2)¥<d / Stool
(3)"5T / Table (4)®HraR / Furniture

TeT (11—13) / Question (11-13) Forcfer : vy wrett # wap st 1ot < 778 € FoRe 1 Ud g
e &, Ty e e e (?) & <eifan 7T © | e U & 9 I ST YD H 9] |

Directions : In the following questions there is a letter series with one term missing shown by (?).
Find this term -

(11) BHU,DIR,FLO,(?)

(I)HNK (2)HCL
(3) NML (4) HNL
(12) F7H,L13N,P17R, U22?
(HV Q)W
3)Y 4z
(13) CXEV,GTIR, KPMN, OLQJ, (?)
(HRITG (2)IRLO
(3) HSFU (4) SHUF

ye (14—16) / Question (14-16) fder : U we # g1 AU ¢ 8| 9% ey / d1e
Rrery frem gRT B T € § | Ile ueE A UF ga @ e () fore fear mar v | v
Rt v &) W+ & forg w2 faded gy |

Directions : In each question there are circles. Certain numbers are given inside/outside the
circles according to a particular rule. In each question one of the circle has a (?) mark inside it.
Choose the correct answer to fill in the space marked (?) from the given alternatives.

2 6 9
(14)
OO0,
3 7 10

(1)6 (2)8
(3)12 (4)13
IH B
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(15) 8 8
ORO:
13 12
(1)3.7
(3)4
(16) 5 3
4 2
(1)196
(3)270

.

Cn
12
2)3.9
(4)4.1
5

0!
6

(2)256
(4)320

ue (17—19) / Question (17-19) forder : Fifera el # <1 71 e AT § o 3w

Mg 2 | yed Uee @ Al T 7 aR et § 9 U@ Weal H @l fdbey gy |

Directions : These questions are based on letter series in which some of the letters are missing.
The missing letters are given in the proper sequence in one of the alternatives among the four

given under each question. Find out the correct alternatives for each question.

(17) aa_ba_aa ba
(1) abab
(3)aabb

(18) a__caab_aabc___ bca
(1)bcaa
(3)baca

(199 _bam__amb__m__a_ ba
(1) mbabm
(3) mabma

(2) baba
(4)bbaa

(2)acba
(4) cabb

(2) abmab
(4) ambbm

e (20-22) / Question (20-22) f¥er : & & Y WUl # ¥ (& WUS Wredl BIST AT & 20T
o1y @Sl ¥ G ford) E € o fhed) faf¥re s o1 ure el 8 | 99 FrH o 5 #R

wvs (?) @ fog Sfa fawew g |

Directions : Out of nine cells of a square one cell in left blank, and in the rest of cells numbers are

written which follow some rule. Get the rule and find out the proper option for the blank cell (?).

NMMSE 19 - MAT
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(20) 1 5 9
4 3 12
7 ? 15
(11
(3)15
21)
3 15 4
7 38 5
3 ? 5
(1)15
(3)19
(22) 1 6 7
2 5 9
3 4 ?
(1)18
(3)13

)13
(4)17

)18
(4)20

(2)10
4)16

U (23—24) / Question (23-24) faU ¢ fAsheui # ¥ <1 IS BT 7T BT |

Directions : Find out the missing one from the given alternatives.

(23) 6:(?)::12:60
(1)10
(3)15

(24) 11:17::83:(7)
(1)61
(3)64

(25) faq 1Y R 4 ol &) e <11 N |

Find out the number of squares in the given figure?

(2) 12
(4)30

(2)63
(4)69

(1)20 (2)25
(3)26 (4)22
Y% B
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799 (26—29) / Question (26-29) fder : It & 715 ARVN H wWw1 [3IR W= ey 7Y 2 |
=T 1 forRg 7Y 3ol @ 9 1eR & TR 11 H Havd & ol T &, IR I8 SHl A
¥ e 2 e 9 & W 16 o 8 | TR 161 W1 1@ AT TEdT 3 SEa X Jo
Y Y1 & IR @ —
Directions : In the below table Column I and Column II are given. In Column I below some words
are given. In Column II their codes are given but are not arranged in the same order in which they

are in Column I. Study the letters in both the column and find out the code to the letter given in
each of the following questions.

(26)

(27)

(28)

(29)

™ 1/ (Column—1)

CLOUD

MOON

SKY

STAR

SUN
'S'HI HHAER & / Code letter of 'S'is :
(1)b ()¢
(3)h (4)t
"U'BT FhdieR 8 / Code letter of 'U'is :
(Db (2)d
3w 4)s
'0' BT FHARR & / Code letter of'0'is :
(u 2)v
(3)x @)r
'N' BT GHAER & / Code letter of N'is :
(b (2)d
(3)s 4)w

¥ 11/ (Column—1I)
durxs
WXXV

tbh
pcba

bwd

U9 (30—32) / Question (30-32) Fer : fm= ol # 9 ¥ # IR—AR fory Ry 70 € |
STH ¥ U o 3T A Wl el @il | 9 f2r &7 el HHic S BTy |

Directions : In each of the following questions four figures are given. One of these figures does
not fit the rest of the figures. Find out that serial number.

(30)

NN

(1) 2

< (&

3) 4

Y% A

NMMSE 19 - MAT

P.T.O.



(3D

(32)

=0
A

o/

(1)

(2

?l

]

(1)

(2)

QI

&)

]

3)

U9 (33—34) / Question (33-34) fdwr : Fe=folRaa weal # (1) @ @i &R &) 7 <1
3repfcrl # HE Hee ¥ | 981 Ha J1fe 3R @ &1 sl # & R 9 us ug @ @ | Ry e
Ricpedi & ¥ S o U8 B S B |
Directions : In the following questions there is some relationship between the two figures on the
left of (: :) the same relationship exists between the two terms on the right in which one is missing.

Find the missing one from given alternative.

(33)
= =D e
=3 (Db e 1D
(1) (2) (3) 4)
BN : T
M| g Ak 0
(1) (2) (3) 4)
B P
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T (35—37) / Question (35-37) frdwr : Foraii & 1 e v 1w R | v W wem—fRr wen
TR STR—f2 = &1 & | wed = ®Y {6l v w1 9 araferd e war & | StR Rl & 9
Y% 231 BT = AT & il T2 & HAAR 3R SISl 9 9 | gafid SoR—fR &1

HET HHIP T BIY |

Directions : Two sets of the figures given. One set of question figures and another set is of answer
figure. Question figures are arranged in a sequence. One figure from the answer figures is to be
selected such that it can be placed after the series of question figures. Find the correct serial
number of the selected answer-figures.
(35) T3 / Question figures

IR—FTF / Answer figures

(1)

(2)

(36) U= / Question figures

T

Q

IR—TA / Answer figures

oy

J

(1)

)

3)

4

3)

4)

NMMSE 19 - MAT
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(37) "= / Question figures

£ [5] [] [®

ITR—FA / Answer figures

& | |rE| &) |cF

(1) () 3) Q)

T (38—39) / Question (38-39) fcer : url & gy v oy wR AmenRa yeAl & W&
fawea gfg |

Directions : Find out the correct alternative of the questions based on the Dias figures.

T

3% 4 B AU g8 U= P11 He=T Bfl?

The number opposite side the face having the no. 4 will be?

(1)1 (2)2

(3)3 (4)5

B

3 6 & AR I8 IR D4l G 8rfl?

The number opposite side the face having the no. 6 will be?

M1 (2)2

(3)4 OF

U9 (40—41) / Question (40-41) e : Fr=ifest wesii # ug (1eR / wreg /ot / 23) &
yfafere <o & geies & 2 | 3o o Refy & 18 2| Ry v Rl 4 w8 ufafes
gy |

5 B

NMMSE 19 - MAT P.T.O.
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Directions : In the following questions visualize the image of the correct item.

(40)
/< &id / Mirror
(1) (2) (3) 4)
(41)

NTSE19 ! B / Mirror

(1)132TN (2)e132TH
(3)9192THU (4)e1dSTH

(42) S 6T T ) e E AR B B S B e P o by T 2T

What will be the angle between the minute hand and the hour hand of a clock at exactly 6

o'clock?
(1)90° (2) 100°
(3)120° (4)180°

(43) 3r%UT 30 HIeX TR BT OIAT & fhR 98 31U+ QMR 7R Y 40 e Fora & | 98l
W Y TR 3R HR 20 AR =AM 2, R G: T 3R BT 40 AR Fere
2 | 98 319 379+ URMAE Refay & fra e ot R 2?

Arun goes 30 meters North, then turns right and walks 40 meters, then again turns right and
walks 20 meters, then again turns right and walks 40 meters. How many meters is he from
his original position?

(1)0 (2)10

(3)20 (4)40

(44) fopeaifna oft % V=1 fhee ‘6" & @ 31 Ugel '8’ e IR Sl dIg 4§ '3' 87
How many '6' are there in the following sequence which are followed by no. '3' and
preceded by no. '8'?

9486327186898136897863136843235

(12 (2)3
(3)4 4)5
X6 B

NMMSE 19 - MAT P.T.O.
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(45) feAI® 3 AR P T8 BT AHAR & 3R T8 a9 ofiu—a9 8 | i af are s =i
B TS BT HwT o BTT?

On 3" November, the day of the week is Monday. This years in leap year what will be the
day of the week on this that after three years?

(1) Monday (2) Wednesday
(3) Thursday (4) Friday
(46) 'IMIRTT ¥Tsg BT e faTHE § —
(1) 31T + ROY (2) 39T + 3RTY
(3) 319 + 3RUY (4) 39 + 3RUY
(47) TA—feT FeTd B AT AfKT B AT BIAT & | IR ¥ N@ifbd ag H GHN BT
TPR & —
(1) TgTY AN (2) HHYURT T
(3) fe] wmm (4) ggam
(48) ‘T &7 yATHATH! T H W A8 B —
(19 (2) g
(3) erget (4) a1
(49) =1 ¥ foerst &0 QU T8l & —
(1) |oTe (2) ST
(3) I (4) FBR
(50) ‘mrefy gRF, Aia TR, =1 a9 e | dfa 3 sreer & —
(1) TH® AAPR (2) arfcreraifa R
(3) STIYTH 3IABR (4) SUHT ITABR
(51) frafafed # 9 rgg I= ol & —
(1) Sootdel (2) e
(3) amefiarg (4) <aTgar
(52) Sy Y BT ST B ATEY & fog U@ el B —
(1) fofor (2) s
(3) A= (4) fmTaT
Y% B

NMMSE 19 - MAT P.T.O.



(53)

(59)

(60)

13

ATel—GTeT BT HeTaR &1 31ef § —

(1) SRR BT (2) =T BT

(3) W H XBT (4) T BT
IR ER 1 ART BT Tet o | Xifind Ug § PR © —
(1) Wy HRD (2) 3TUTETH BRB
(3) A BRD (4) HYE PRD
HeR’ 9T o1 aref & —

(1) #g PEER

(3) warE & dr (4) FeaTTE

FHU}' TTeg B TG TU & —

(1) FuoT (2) BT

(3) ProT ,, (4) BT
meﬁ?agﬂﬁﬁtgﬁﬁwaﬁmmﬁmw—

(1) T IR A (2) weff arcfiaT
(3) % fowarfia < (4) #=f§ Jeam =
mﬂ%ﬂ?wmﬁ:ﬁﬁﬁﬁﬁuﬁﬁ—

(1) @ren A (2) T H

(3) WETGHEIGR H (a) forirsTa #
I ERIR @Y GO ERT § —

(1) faeelt (2) AR

(3) SRR (4) 3oreMiR

e e # Arer WA |7 e ¥ e ug § —
(1) fopar fagioor (2) fagyor

(3) ety (4) fooma

frder— PrefaRad TEATORYT FY TgH] UL WEAT (61) ¥ (65) TP D IR AT —

eI O TH—TRE A @ O T ST AT i wRiey sdie g, e

I% B
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(62)

(63)

(64)

(65)

14

Hpel PR TR DY el BT ReR BF1 geT | Sferdiaren arT arf AR |
G- daRT W RBRT TF A5 A7 | el B Nl 984 & Wb AT | U o
Siferitarer anT # |7 81 38 oY | SuH e WReR & gy AT 81 j2 o | |/
Fe— Freeell e R Mot o gw o 347 | PIE TF SR AEH AR T

3R &S SR =TIl 81 7Y | AR AR ¥ 1Y B o <re E |
SifTaiaTa 91T SRATHTS B THY THRIER B g AT —

(1) drq a9 (2) ATa—aTS I

(3) yEE—Tele 9y (4) TH—"IRE 9%

“TET BT T T Bl covrerersnen oT | RacRer 2g |el 9 § —
(1) =TT (2) ST

(3) <er (4) @
“STferdtarel arT” o7 —

(1) T &a (2) T® faremery

(3) v Fe (4) T fopetm

AR AR ¥ B AS TS —

(1) B A (2) T

(3) faorg @t (4) 3T BT

“fert ererarn I B & | X@ifd ug &1 qHR] 96§ —
(1) 3™ (2) IR=1

(3) @e FR (4) T

frder— fforRad TETer Bl UG} T AT (66) ¥ (70) TH @ SR AUV —

(66)

g HHE HIg TS AT F 1T IARTS Fa |
AR M ISR T TR U | ATl Bal | |
7% 4R 9RE @@ T 59 AT 7 U gEmRe |
Ta @ A geriiaT™ AT T e Saiel | |

I U P AT 8 —

(1) PER (2) ™
(3) XEm (4) gereieT™

Y% B
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(67) ‘el B SUAT I TS & —

(1) URF 1 (2) BT=I @7

(3) & @I (4) =T BT
(68) wfa = ‘GuTer vres fwa forq wgart fvam & —

(1) o= (2) TR

(3) xH (4) =ma
(69) ‘I T AHH I & —

(1) wregoT (2) weFoT

(3) &reT (4) org

(70) =TI H fe FIY & 919 9a1S & —

(1) Terier & (2) TIRYT B
(3) < @1 (4) oG B

Q. No.71-74— Read the following passage and answer the questions that follow:-

Every evening, the animals of the village Orange city used to sit under the banyan tree.
One day Kho-Kho, the rabbit, was feeling bored. He said, "Let's run a race!" "Who will
run a race with you? No one can run faster than you," said Bhalu, the bear, eating a mango.
Choo-Choo, the rat, shouted, "No, he's not the fastest runner. I can run faster than him."
Everyone laughed at him. Then it was decided to have a race between Kho-Kho and
Choo-Choo. The starting point was the Peepal tree and the finishing point was the Neem
tree. Coocku, the cock, crowed to start the race. As soon as Kho-Kho started running,
Choo-Choo jumped onto his back. After running halfthe distance, Kho-Kho looked back,
but Choo-Choo was nowhere to be seen. "He must be far behind," thought Kho-Kho and
he smiled to himself. When he was near the finishing point, Choo-Choo jumped over
Kho-Kho's shoulder. He touched the Neem tree first. He shouted, "I've won the race!"
Everyone cheered for Choo-Choo.

(71)  Inthe passage Kho-Kho refers to the name of -

(1)agame (2) an animal
(3)aplace (4)abird
(72)  Which tree is NOT mentioned in the passage?
(1)Banyan tree (2) Mango tree
(3) Peepal tree (4) Neem tree
% B
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(73) Whosignalled to start the race?

(1) rabbit (2) bear

(3) rat (4) cock
(74)  Who touched the Neem tree first?

(1)rat (2) rabbit

(3) bear (4) peacock

Q. No. 75-76:- Choose the correct article for the black space:-

(75) TI'lltell you a tale of the animal which has tail.
(1)the (2)a
(3)an (4)None
(76) Ifoundonly one-rupee coin in your pocket.
(1)the (2)a
(3)an (4)None
(77) Choose the correct preposition for the blank space. He put the ladder _the wall.
(1) with (2)to
(3)in (4) against

Q. No. 78-79:- Choose the opposite gender for the given words:-
(78) Nephew

(1) nice (2) niece

(3) neice (4) nephewess
(79) Wife

(1) hisband (2) hasbend

(3) husband (4) husband

(80) Choose the word with a different sound of the underlined letters:-
(1)beat (2)lead
(3) sweat (4) read

(81)  Choose the correct opposite word for 'sell:-

(1) bye (2) buy
(3)by (4) sale
G PR
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(82) Choose the word which is misspelt:-

(1)sacrifiece (2) martyr
(3) entire (4) cruel
(83) Choose the word which is spelt correctly:-
: (1) ocassion (2) massacre
(3) suffocution (4) vahicles
(84) Choose the word which has similar meaning for the word 'thrive":-
(1) to throw (2) to praise
(3) to prosper (4) to think
(85) Choose the correct one word substitute (answer) for 'the scientific study of the sun, the
moon and the stars':-
(1) agriculture (2) anesthesia
(3) surgery (4) astronomy
(86) Choose the correct 'plural' of the word 'baby":-
(1) babys (2) babeis
(3) babies (4) baby
(87) Choose the correct pronoun:-
We are only two players from _country.
(1) my (2) him
(3) our (4) mine

(88) Choose the correct arrangement of words to make a meaningful sentence:-
plan for/is a detailed/a journey / an itinerary
(1)an itinerary a journey plan foris a detailed.
(2) an itinerary is a detailed plan for a journey.
(3)ajourney is a detailed an itinerary plan for.
(4) plan for a journey is a detailed an itinerary.

(89) The following sentence is divided into three parts. Choose the part which has an error.
The enemy wanted/ to kill everybody / whichever they encountered
(H (2) (3)
(1)1 (2)2
(3)3 (4)No error

(90) Choose the sentence which is NOT correct:-
(1) This is a banyan tree which has aerial roots.
(2) This is the village who everyone is literate.
(3) The tenants who lived in the surrounding houses have left.
(4) Do you know Anushka who won the first prize.
e ok of ofe e ek ke s ok

B BRI
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Roll No.

NMMSE 19 - SAT

15484,
Yerre F=a B9 ARe wHTeRRT e — 2019 o C
(Pem — 8 ¥ seggRa faenffat & fe)
NATIONAL MEANS-CUM-MERIT SCHOLARSHIP EXAMINATION - 2019
(For Students Studying in Class - 8)

Sifere Iivgar gdlegor
) 5 T / PART Il
Scholastic Aptitude Test
wHY ;90 e quiiep : 90
Time : 90 Minutes Max. Marks : 90

gRlenfeiat & foru <91/ Instructions to Candidates

Read the following instructions carefully before you answer the questions -

1 UAT e TR, ST % 3Mg® U9 g5 1 Please write your Roll No. as given on your
H fear T &, W iRy (e dfed ¥ Admission Card, very clearly (only one digit
Pl U i) Ig 19 ¥ fh BIS dfeg  in one box). Please see that no box is I' -

fRerT =1 ¥& Y | unfilled.
SR Example : g‘ﬂ”ly

3|13|0|1|8|0|4(0(3|2]1]5 33018040321':;I

2 H1r — fgdta & 90 wed 8| u—AP WA 2 Part - 11 consists of 90 questions. Each
Uh 3h P2 | question carry one mark.

ol fasimr — 35 9% (1 9 35 ) Basicscience  -35 questions (1-35)
T fas=—35 ue (36 9 70 T) Social Science  -35 questions (36-70)
T — 20 9% (71 9 90 TD) Mathematics  -20 questions (71-90)

3 TS U9 BT SAX SuN—Ud®d § I4T 3 One oval of correct Answer should be
999 F&IT & 9HA v v et # 9 darkened by the candidates with HB pencil of
el fdwey arell 9@ & sfiae § va o) corresponding question of the OMR sheet
Ufsaer | T Hredr B ST | TR If scanner is unable to read the darken oval
Pl 7 B TR TR §RT 9 Ug O Bl then all the responsibility lies on the
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(1)  Fre=forfed H 9 wrefts @< g —
Which one is the natural manure -

(1) gRaT / Urea (2) 9TeTer / Potash
(3) gl I / Vermicompost  (4) IR HIFHE / Super phosphate

(@)  Sia—<iwg vd Ug—dre o1 WY yowfert Rierer g o wfafAifey adwr 3 shfaa =2
g, BEAT & —

Those species of plants and animals whose any representative is no longer alive are
called -

(1) @#hera~ /Endangered

(2) faer / Extinct
(3) wrepfcren amrarst # faq< / Extinct in natural habitate

(4) ey &= / Endemic

@)  ueRia urey fa= ¥ ereifire U= BT BI|T YbR YT STl 87

Which type of asexual reproduction is found in shown diagram of a plant?

X DOOXKK
/\
XREOC X0

1) fdgvST / Fragmentation

)
) 5B / Budding

(3) @rroy fAHfoT / Spore formation

(4) FHIRH Faei= / Vegetative propagation

(4) SR BT T faaT Ui MHT WieR SioTEwTel | 997 Biar 87

About how much percent of blood is formed of corpuscles?

(1) 90% (2) 70%
(3) 60% (4) 40%
Y% BT
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(6)  W<T J[eTH BT HARYT B dTell dIRE & —
Virus that transmits cold is -
(1) 99¥el SIER / Varicella zoster
(2) RERICIE RSS! / Rhino virus
(3) Tiferdr arRR™ / Polio virus
(4) EAT $RIA aT9RE / Human immuno virus

(6)  ureul ® Siel &1 URaET BT § —
Water transportation in plant is -
(1) STge™ @ §RT / By Xylum (2) TATH & ERT / By Phloem
(3) ¥&ii & RT /By vesicle (4) 9Tl & RT / By leafs

(7)  wfad "5 SE B BIET f&a™ HHRT Sl 87
Every year"5 June" is celebrated as -
(1) faea Srden fdgw / World Population Day
(2) fava Taiaror f&ad / World Environment Day
(3) yedl fegw / Earth Day
(4) farea 2= faas / World Ozone Day

(8)  ¥epdi T foh faeTfe @1 ¥l 9 e =7
Which vitamin's deficiency causes scurvy disease?
(1) faeif®= v / Vitamin A (2) faer@= €t / Vitamin B
(3) fderf= @ / VitaminC (4) faer® = 1 / VitaminD

(0)  frferRa & & fars 3T 1 W) HIE IR IR U I 82
The villi are present on the inner surface of which of the following organ?
(1) AT / Stomach (2) =T / Small intestine
(3) g8aT / Large intestine (4) 31T / Pancreas

(10) fr=ferae # W BT aRAM THR HRR F BT @ wiR bl (a3 e 87

Which of the following hormone regulates calcium level in our blood?

(1) BRT T8RS BRAN / Para thyroid hormone

% B
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(1)

(12)

(13)

(15)

(2) &g AR 8RAM / Thymosin hormone
(3) eI eRAN / Thyroxin hormone
(4) TSIHfer 8RHI / Adrenaline hormone

TP B BT H Bl & —

Heart of frog have -

(1) Udh arfer< T rera / One auricle one ventricle
(2) U fel &I el / One auricle two ventricles
(3) a1 3mfer=s U@ e / Two auricles one ventricle
(4) <1 amfer &1 61T/ Two auricles two ventricles

woferal # grl § TR 1 Y HRA D o S 3T HBTIAT B &7

Which organs helps fishes for swimming or movement in water?

(1) TewS / Gills (2) eres / Scales

(3) f=4 /Fins (4) BFBH / Lungs

Siies foher SIFT & ¥aw Bl &7

Which organ is used for respiration in leeches?

(1) BFBA / Lungs (2) T / Skin

(3) TABS / Gills (4) 2amg UvTTSt / Trachea
51 # ¥ 9efig Hebrer BT 9T B —

Which of the following is the part of Thoracic Skeleton?

(1) @Iugl / Skull (2) BR / Femur

(3) usell /Rib (4) =ATOT F=@EAT / Pelvic girdle

a9 H HS—Te! §a Shal 3 IUAT WIS U HReh UTRIID STaTH] Bl Wes W@ BT
BT HCAT & —

By getting food from decaying and dead organisms in forest and keeps natural habitats
cleanis -

(1) S / Hyena (2) wfeamr / Wolf
(3) STl 3R / Wild boar (4) R@AR / Jackal
I B
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(16) @Y STETERVTR —
Airis an example of -
(1) fASTOT / Mixture (2) SIGYT / Salt
(3) 31 / Acid (4) 8R® / Base
(17) °™ ildaodl e
3V P W
on heating
Solid ———= vapour
on cooling
SR Ufshar 8—
The above process is -
(1) BT / Centrifugation (2) SeAUTAT / Sublimation
(3) arsfIehROT / Veporisation (4) RIS/ Filtration
(18) f=forRad # & arens aRad= 2 —
Which one is the unstable change?
(1) 12 9= ST ST/ Rusting of iron
(2) g&r ¥ T€1 791 / Formation of curd from milk
(3) SR &1 SeI9 / Burning of tyre
(4) g% T fUEEHT / Melting of ice
(19) AT P Sl AT Rgd & .o Bld & —
The aqueous salt solutions are electrically :
(1) ATt / Conductor (2) BETEAS / Insulator
(3) SaT¥I9 / Neutral (4) arefaTeT / Semi conductor
(20)  fb &g T TP IgT B BIAT 2P
Which metal has very low melting point?
(1) Fe (2) Ga
(3) Sn (4) Cr
G HA
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(21) o a1 B FAS & ot (HRIAT) H SR T ST 87
Which metal is kept dipped in kerosene?
(1) ¥1f$TH / Sodium (2) @T&T / Iron
(3) fe / Tin (4) H=N¥1 9 / Magnesium
(22) HEAT V2 BT SEATERT & —
Example of synthetic fibre is -
(1) ®8 / Cotton (2) Y@$ / Rubber
(3) € /Gum (4) ¥T™E /Rayon
(23) CaCo, m .......................... S —
on heating
IR SAfAfshaT B7 qof BRI —
Complete the above reaction -
(1) ca0+Cd, (2) Ca+CO,
(3) Ca(OH),+0, (4) caO+0,
(24) T B RO D 2USE I H HIH SUGFT U & —
The most suitable substance used in making of handles of kitchen utensils is -
(1) dfferef= / Polythene (2) A= / Nylon
(3) Yr 4. /PV.C. (4) S@eTST / Bakelite
(25) wd SrgvAT H UTS ST dTell T & —
The non-metal found in liquid state is -
(1) 99 / Bromin (2) 3iferdTST= / Oxygen
(3) AGEIST / Nitrogen (4) ®Té / Carbon
(26)  GHTYY ¥ AU BT & —
The odometer is used to measure -
(1) X1 / Distance (2) &= / Area
(3) 3mad= / Volume (4) AT / Speed
% B
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(27)  Frad arer | TR A arelt a%g BT LO—HT TS = F | P 87

Which one of the following graph between distance and time is for an object moving with

auniform speed?

0 @

31 / Distance
g1 / Distance

\HA / Time —p Y / Time —»

L

W / Time —» WA / Time —»

¥ / Distance
X1 / Distance

(28) 19 BT HEG & —
The unit of pressure is -
(1) =& / Newton (2) dfeas /Kelvin
(3) R=hel / Pascal (4) STeT / Joule

(29) TTEAY 94 @I yREEHT HEATd & —
The phenomenon of formation of rainbow is known as -
(1) T / Reflection
(2) faaRa uRrac™ / Diffused reflection
(3) ursd ufkad= / Lateral inversion
(4) fa&Tor / Dispersion

(30) BR® NS $ g PI TW B oY 5 YHR B <4V B SUANT fobar e 27
Which mirror is used to see the rear view of car?
(1) ST TUUT / Convex mirror
(2) |¥cTe €YU/ Plane mirror
(3) araTa €UTT / Concave mirror
(4) "Trefr gy / Spherical mirror

IF BT
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(31)

(34)

Gl DT A & —

The unitofenergy is -

(1) =ge /Newton (2) fel ™/ Kilogram
(3) SIT / Joule (4) dic / Watt

gedl & forg TaTas 9 1 | & —

The escape velocity for earth is -
(1) 11 f /. 11 km/sec. (2) 5.5 fB#T /9. 5.5 kmisec.
(3) 22 f&HT /9. 22 km/sec. (4) 11.2 fH9T /9. 11.2 km/sec.

fer=tferRRere wereif & 9 fraa SuaT emidiex & fFar wmar 27
Which material is used in thermometer from the following?

(1) YRT / Mercury (2) @1feT¥ / Sodium

(3) fS5t® / Zine (4) =Y / Silver

fopvr Suepwor # e il o1 S Forf & wurRor 2T 27

Wthh of the following apparatus converts electrical energy into heat energy”?

ﬁgﬂtﬂﬁ? / Electric motor 2) ﬁ'ﬁgﬁﬂ'@?ﬁ / Electromagnet
(3) fage €1ex / Electric heater (4) faega €€t / Electric bell

IR GIRT TRET § o1 7Y YT HIH SUUE &7 A & —

The name of first Indian artificial satellite launched in space is -

(1) 9T¥PR—1 / Bhasker-1 (2) HeUT—1 / Kalpana-1
(3) AMANE / Aryabhatt (4) TH.Tadl /SLV
“HITell €19 Rerd 8 —

Majuli island is situated in -

(1) T H /In Ganga River

(2) 8793 7T&1 H / In Brahmputra River
(3) g &1 H /In Yamuna River

(4) T8 T H / In Kaveri River

NMMSE 19 - SAT

P.T.O.



(38)

(42)

10

AGHUSH H PIET—SIS—INFATSS bl Hferd & —

The percentage of Carbon-Di-Oxide in the atmosphere is -
(1) 0.01% (2) 0.93%

(3) 0.03% (4) 0.06%

gedl TR HIo[E WA STel BT e uforera siel 91 e 87

How many percentage of water on earth is fresh and pure to used for drinking?
(1) 2% (2) 2.5%

(3) 3% (4) 3.5%

a8 Y o7 IR HIQR g1 S W &, heelial & —

The land on which fruit trees are grown, known as -
(1) &M 9 / Agriculture land (2) =RTTE YA / Grazing land
(3) IR YA / Barren land (4) S&™ 9% / Garden land

"3 AT BT Hay fbg T & —

"Appiko Andolan" is related to which state?

(1) ®Te®d / Karnataka (2) H8RTY / Maharashtra
(3) RTSTRIT / Rajasthan (4) BT /Kerala
RAER el drel a1 UTY STd & —

Juicy fruit forest are found in -

(1) ST HETGER a9 / Evergreen forest

(2) BTUTERY a9/ Coniferous forest

(3) SwT Bieqely HITER a9 / Hot zone evergreen forest

)
(@) WT"I’@'CI g9 / Mediterranean forest

RTGTRRIT STHHEAT 2011 P IHRIR TSR T fTgard & —
The gender ratio of Rajasthan according of census 2011 is -

(1) 930 U 8T /930 per Thousand

(2) 928 Ufd 81 /928 per Thousand

(3) 932 ufct TR /932 per Thousand

(4) 926 Ufct &R /926 per Thousand

B F
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(43)

(44)

(45)

(46)

(47)

(48)

11

TTIET 2011 & ITHAR ISR BT AIERAT U & —
Literacy percentage of Rajasthan according to Census 2011 is-

(1) 79.2% 2) 52.1%

(3) 66.1% (4) 54.9%

T & HRRHE B e &l & —

Who appoints the Chief Minister?

(1) vrsgufer / President (2) ¥rsgUTed / Governor

3) UETHA! / Prime Minister (@) g &1 gy YT / State ChiefJudge
TG ATSTAl Bl Hee & —

Antyodaya scheme is related to -
(1) =149/ E-Governance (2) ¥gex fR1ET / Computer Education
(3) @™ qRET / Food Security (4) TTYOT ISR/ Rural Employment

qrE= gt 9y frferRed 4 A e =8 8 —
Which one is not needed while driving?

(1) T TSfdT g / A valid driving license

(2) AMTSS BT TAT 1 HIAT / Do not use mobile while driving

(3) =31 @@ d1e= 7 AT / Do not drive after drinking
)

(4) S fRferT 89T / Highly educated while driving

3R g1e T fas] Hiex Rerd € —

Vishnu temple Angkorvatis situated in -

(1) BT / Kambuj (2) W™ / Sayyam

(3) THT / Champa (4) 99T / Burma
frferRad # 9 g4 & |HY yaferd ox el a1 —

Which one was not form of tax mentioned the period of Harsha?
(1) W37/ Part (2) f2xvg / Hiranaya
(3) Y@ /Ratan (4) afer / Bali

% B
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(49) EHIR ABIHIY b TSR BT HH & —
The writer of "Hamir Mahakavya" is -
(1) SRS/ Jodhraj (2) == &/ Naychandra Suri
(3) BTE< 39 /Kanhad Dev (4) 8¥R 3T / Hamir Dey
(50) <irETTS fohet @ fAmior fope wmres = fpam?
Which emperor built the fort of Lohagarh?
(1) 951 & /Badan Singh (2) IRSTHA / Surajmal
(3) STafiE / Jai Singh (4) $¥9 RHE / Ishwari Singh
(51)  Torer gaeh Red & —
Nathmal Haveli is situated at -
(1) SR/ Jalore (2) SIEI9R / Jodhpur
(3) STHEHR / Jaisalmer (4) STRAYR / Jaipur
(52)  FTepT WIfRE 5 Gl &7 T+ oI 27
Nankana Sahib is the birth place of which saint?
(1) TTgEaTd / Dadudayal (2) ¥MM= / Ramanand
(3) PR /Kabir (4) AT/ Nanak
(63) f=IfciRaT & & srawrey arer & —
Which one is Avnadhya instruments?
(1) @S / Khad tall (2) X797 BN / Ravan Hatha
(3) IS / Algoza (4) SHART / Ek taara
(54) TR HIh FHA XN 56 TR B T Brehv T[oreely 82
The standard time of Meridian of India passes nearby which city?
(1) BreT@<T / Kolkata (2) 3eITEaTE / Allahabad
(3) 598 /Mumbai (4) fdeell / Delhi
(65) R AR & H Uri) S Tef 5T BT YpR & —
Which type of grass is found of the part of 'Thar desert'?
(1) ®% /Ker (2) &R /Thor
(3) IRUT / Aarna (4) 99T / Sevan
% BT
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(57)

(59)

(61)
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RTGTRRIT #H STeT fapTotes ¥ & —

Water dividing line of Rajasthan is -

(1) 3R1gell / Aravali (2) BTSK / Hadoti

(3) IR / Thar (4) f29TeT / Himalaya
frr=iferRad # | Sag @) $Hd & —

Which one is Jayad crops?

(1) SaR / Sorghum (2) &/ Wheat

(3) 9™ / Barseem (4) Tmaet / Rice
fr=felRaa | 9 arfeas @fs & —

Which one is metallic minerals?

(1) 396 /Mica (2) e 37Uk / Copper Ore
(3) a9/ Gypsum (4) UT8E / Granite

A9 [JT8 Gadie o aifds SR fhy rd € —
The data of Human Development Index provided by -
(1) &g, T 3. /W.H.O.

(2) gt g faer BrisH / UNDP

(3) HYgaa I YATARY BRisH / UNEP

(4) e aRg /S.C.

TR Qe AT & AT 37edel of —
Who was the permanent chairman of Constituent Assembly?

(1) wfeererie R8T / Sachchidananda Sinha
(2) ArciTEITe 8% / Motilal Nehru

(3) ©T. W9 WG/ Dr. Rajendra Prasad

(4) ¥RER UCH / Sardar Patel

14 99§ HH Y & da] W WD HIY TEl HRIAT SN Aehell &, SHB] Haiel & —
Children below the age of 14 years cannot be deployed in hazardous jobs, itis related to -
(1) wd=ear & 3IfSPHR ¥/ Right to Freedom

(2) 9i9or & favg SIf&d R ¥ / Right against Exploitation

% B
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(64)

(65)

(66)
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(3) HaeTP SU=Rt & sy A /Rightto Constitutional Remedies
(4) AT B PR / Right to Equality

YIRS & 99 8 =™ g @9 = —

The minimum age needed to become a President of India -
(1) 25 (2) 30

(3) 35 (@) 40

CATRT BT g GAT o —

The battle of Plassi held in -

(1) 1761 (2) 1784

(3) 1757 (4) 1765

1857 BT BT & THY AR B TR TR o —

Who was the Governor General of India at the time of Revolt of 18577
(1) &€ BT /Lord Canning (2) TS FTZ9 / Lord Claive
(3) @S 33T /Lord Benting (4) TS A=A /Lord Mayo

1856 ﬁﬁﬁwmmﬁquwﬁﬁmﬁamW?
From whom efforts Widow Marriage Act 1856 took place?

(1) XTSI I =g /' Raja Ram Mohan Roy

(2) ST AR /' Dayanand Sarswati

(3) S¥aveie AR / Ishwarchand Vidhyasagar

(4) T fa9dT™= / Swami Vivekanand

w%%ﬁaﬂvmwmﬁﬁaﬁmm—

Who was the first to oppose the exit of property?
(1) #&THT Tl / Mahatama Gandhi

(2) aTeT™TE RIS / Dada Bhai Nouraji

(3) ¥RER U / Sardar Patel

(4) STATER AT 8%/ Jawahar Lal Nehry

X6 P
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(67) f=feiaa # forar sfdifram & qea a0i &1 TR ¥ yors &= ey Tar?
In which act Burma had been made isolatedfrom India?
(1) 1909 (2) 1919
(3) 1935 (4) 1947

(68) WRT I oA HIHT Pl TS & —
The length of Indian land border is -
(1) 7516 f&H /km (2) 15200 fHHT /km
(3) 18000 fHHI /km (4) 9050 fHHT /km

(69)  THE™T e HY TATIAT faT BY?
Who founded 'Ram Krishna Mission'?
(1) f@d®T= / Vivekanand
(2) TOTE WREIAT / Dayanand Sarsawati
(3) TSTRTH |18 Y1I / Raja Ram Mohan Roy
(4) Tt ST/ Ani Besant

(70)  “STeh=1 AT UR FAYH P A ATAT oY AT —
Which state banned first "Dakan Pratha"?

(1) STAYR / Jaipur (2) STUYR / Udaipur
(3) SRIgR / Jodhpur (4) 3STFR / Ajmer
L. 1 e
i T A/ BT
Valulc3of3—‘]I+ 1% is equal to - :
(L2 O
13 65
O @)

(72) QU U HHaEYS H Siferehed favai AT Xy S o Had! 87

How many lines of symmetry are there in the given regular polygon?
(1) 4 (2)3
@) 6 (4) 10

IH BT
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(73) TR T Rt & 1o x W7 W By — .
: J : 5 110
Value ofangle x in the given figure is -
(1) 40" () 50° .
(3) 45" (4) 110" ! o
(74) A& 20+7= 158 A x &7 77 2ryT —
If2x+7=15, then value of x is -
(1)8 (2) 4
(3)7 (@) 11
(75) 141216, 8, 10%T TR Heg 2T —
Arithmetic mean of 14,12,16,8, 10is -
(1) 15 () 12
(3) 20 (4) 10
(76)  ve waaEyS foréres oedas arer Bror 45° 8, YTt Y e B —
Aregular polygene whose measure of an each exterior angle is 45 has number of'sides -
(1) 4 @6
(3) 8 (4) 12
(77)  ufer < 920 & et @ o 4 - 5 %ﬁ#ﬁﬁ?gﬁ%ﬁaﬁwaﬁmﬁm-
The ratio of diameter of two circle is 4 : 5. The ratio of their area is -
(1)4:5 2)5:4
(3) 16:25 (4) 64:125
(78) [l ggperes % wfe g ﬁﬁ@smaﬁa’fm%ﬁﬁaﬁmﬁﬁ—
A polyhedron whose vertices are 8 and faces are 6 then its edges are -
(1) 12 ) 14
3)2 (4) 48
(79) &R 245 % 4 BT yIRIGT gfor gy —
Ekadhiken poorven of4 in 245 s -
(1) 4 2)2
(3)s (4)3
% &1
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(80) Web HIVT BT A AU WYRS HIY & G-I 2, TE DI BN —
Angle which has equal value as its supplementary angle is -
(1) 45° (2) 80°
(3) 90° (4) 180"

(81) AT 121 BT G HeET B1fl —
The cube of number 121 will be -
(1) U |H W1 / Aneven number
(2) U& fa9H =T / Anodd number
(3) Us &H AT fa9q |EAT / Aneven or odd number
(4) 39 | ®IE F81 / None of these

1

82) @'YV HHAFE -
1

Value of (4") is-

(1)- B 5
OF) @ 3

(83) U TGS T WHRE YAH BT dast Y ST WAIR § oifhd G 18 8, U

AFY B —

A quadrilateral having exactly one pair of parallel sides. but sides are not equal. The
quadrilateral will be -

(1) udT /Kite (2) wAT=IR ﬂ?[{iﬂ / Parallelogram

3) W‘g”iﬁ / Rhombus (4) \HeTs A / Trapezium

(84) TP 21 . Firem aTel UfRT B 2 "aHR GAN W qd @) T8 g9l 2

The distance covered by arotating wheel of radius 21 cm. in 2 rotations is -

(1) 264 9HI. /264 cm. (2) 84 1. /84 cm.
(3) 44 Y. /44cm. (4) 132 ¥4 /132 cm.
% B
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85) 39:65 BT HRCTTH ST & —
The simplest ratio 0f39 : 65 is -
(1)3:5 @) 5:3
(3) 12: 11 @) 11:12

(86)  dTEmAT (T TTRe) v e R —

Bodhayan (Pythagoras) Theorem is true for -

(1) =T oy %{'ﬂ'ﬁ & foTY / Foracute angle triangle

(2) FHBIoT et & frg /" Forrightangle triangle

(3) tferep Bror At & 1Y/ For obtuse angle triangle
(4) 379 | PIE 78 / None of these

(87)  @er 100 %t el # faa yof avf ey =iy 27
How many square numbers are there in first 100 natural numbers?
(1) 10 @) 12

(3)8 @6
®8) RuTguR 2 o'b' ¥ o 7 oy & —

The coefficientofa’ in the given term is -

-3 3 .
(1) ;J b’ @ 35 b
-3
(3) b (4) 5
(89) 7325+ 1000FTHF & —
The value 0f 73:25 + 1000 is -
(1) 0-7325 (2) 7325
(3) 7325.0 (4) 007325

(90) ??'t%r?/‘fﬁri—mhwﬁwa%%v%mm%—

The symbolic notation use for -

(1) @ /Square (2) T / Square root
(3) &1 / Cube (4) 9T / Cube root
o e ok ok oo sk sk sk sk ok
B HT
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